Module 9: Classification — The Basics
Topic 2 Content: Dichotomous Keys

Introduction

Dichotomous
Keys

Click the NEXT button to learn how to use dichotomous keys.
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A dichotomous key is a classification tool used to identify and classify organisms according to
defining characteristics. To identify organisms using a dichotomous key, simply read a series of
statements that describe traits and then determine whether the organism has the trait or not.
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Dichotomous Key Arms
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1a-It hasarms. (Go to 2)
1b - It has no arms. (Go to 3)

No Arms

g .
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To learn how to make a dichotomous key, imagine that you need to classify four organisms, such
as these monsters. First, divide the organisms into two groups based on one trait. For example,
you might divide these organisms based on the presence of arms.

Once you have divided your organisms into two groups, you now have the first part of your
dichotomous key.
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Dichotomous Key - Arms
Ears
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1a- It has arms. (Go to 2)
1b - It has no arms. {Go ) LT
2a - It has ears. (Saturn)
..... Monstrum soturnus ND EEI' ND AI'ITIS
2b - It has no ears. (Mars)
MﬂﬂErmmmﬂrE‘\t iii

Next, further divide these groups into subgroups based on other traits. For example, the
organisms in the first group have arms. You might further divide them into subgroups based on
the presence of ears.

Now you have the second part of your dichotomous key. Because the pink monster has arms but
no ears, you know that the organism is called Mars according to the dichotomous key. And
because the orange monster has arms and ears, you have narrowed down its identification as an
organism called Saturn.
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2b-
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It has one eye. (Venus) \ Y,
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It has more than one eye. (Jupiter) T \ /
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-1t has arms. (Go to 2) \
It has no arms. {Go to 3) - MH-____
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It has ears. (Saturn)
. Monstrum soturnus
It has no ears. (Mars)
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vveveo . Monstrum jupiter . -

You have so far classified two of the four organisms. To complete the dichotomous key, repeat
the process of classifying organisms into groups until each organism is in a group of its own. For
instance, the organisms in the group with no arms can be further divided into subgroups based on
number of eyes.

Now that the remaining organisms are the only members of their groups, you can write the final
part of the dichotomous key. The three-eyed monster is Jupiter and the one-eyed monster is
Venus.
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